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A NE=230= 2435
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Ct. 2t 2ol bl 560,000 » 14! 560
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10.2HO0IXN2NLESE2 800,000& =14 800
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1.282232 2,037
DIR=PI 1,930@ »25 &« 12& 579
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2.ASHEE 2 270,000& =2CH 540
3. Ak s XA 45,000& *2CH 90
4. 8022 6,000,000& x12& 72,000
540523 810,000& x12& 9,720
6.TAIARZ 3,000,000 x12& 36,000
7 ghstete| XHE &l gl 80,000& 13l 80
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10.8ZMNMERE 2 1,800,000& 23] 3,600
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12. 8 =220 3 2HAE3 H| 3,500,000& 13 3,500
13.748d8s50g 35,000& x12& 420
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1. 2= 2F8I|I20 ]
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203 QR EX 4,340 4,800 460
02 RN R =X H| 560 600 N40
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04 2SI L RF=AH| 3,780 4,200 N420
12N 350,000& *12& *90% 3,780
204 X2 =2 A H| 1,800 1,800 0
01 MR -HAY| 1,800 1,800 0
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